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It is 3191 which is not 721p _s3p N97 87 12930

OVERVIEW

The X3 asks how can there be a doubt whether 2127 alone 1s 733 or »7n
alone 1s 7121P; since we know that 3°711» alone is 712 (from our 71wn of 2127 'K
23711 'XY), then for sure it is 2197 that is not 71p. Our MdOIN explains why we
are certain about 3771 and not about 2127.

mooIn responds to an anticipated difficulty:
21959392 nma PIPY INT 2199 TANRT PNIND)

And our mw» which states that if one is 3129 he acquires half; indicating
that 107 (as well as »mn) is mp;”* this presents no difficulty as the X723
later rejects this inference for we can say that 2137 in the 71wn means that

he is leading the animal with the movement of his (the person’s) feet.
Therefore it is not considered 2137 but rather 3731, Our discussion here is concerning a
2137 who is not »71n.

SUMMARY
2107 in the 7IwWn can mean 179372 3.

THINKING IT OVER

mooIn asks his question from 2137 X which indicates that 2197 is 71p.” Why
did not NMooIn ask his question from the case of 0°2317 271w (which is written
in our mwn before 237 TX)?!1°

! 2191 here means sitting on the animal but not necessarily causing it to move.
* See previous »m "7 MOOMN.

? Our question is concerning a 21971 who is not 12372 2773,

* See “Thinking it over’.

> See footnote # 4.

% See X"wAn.
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